7|88 AlE4E WA
713y A S ST SsAdH (2] = 9
2 o) 1=
gopzg 22| B3| 2% Aol %A% e N 357 | AR | @

34 4,483,738 65,248,954 69,732,692
s 4,370,876 62,315,541 66,686,417
FolL 2T TS 4,379,876 58,778,852 63,158,728
& g=Ex 42 486,919 4,978,052 5,464,971
ISR LY 376,919 2,201,148 2,578,067
AERA LR A272,925 700,135 427,210
1. 4o B Z WAL A272,925 571,825 298,900
7F fojul R ZwARA 5,355 7.125 1,770
1) S98=% 210-01 |1,350,0009 — <7]14>1,500,0009 = A150 1,500 1,350
2) Az A 2 210-01 [420,0009 — <714>2,700,0009 = A2,280 2,700 420

3) ARAS 210-15 |09 — <71%>2,160,00094 = 72,160 2,160

4) 7+21n) 230-02 |09 — <71%>90,0009= A90 90

5) &2 3 230-02 |09 — <714>675,0009= ABT5 675
L ojulw W ARQI A H] A267,570 564,700 297,130
1) B 188,000 403,800 215,800
H15F 110-03 |100,000,000€ — <7]14>180,000,000¢ = 80,000 180,000 100,000
W) 25+ 110-03 |94,800,000¢ — <717%>184,800,0004 = 290,000 184,800 94,800
oh) Ao g 110-03 |8,400,000¢ — <71%>15,600,000¢ = AT,200 15,600 8,400
2} &3 110-03 [12,600,0009 — <7]174>23,400,0004 = 210,800 23,400 12,600
2) Feloza 110-03 |33,600,0009 — <71 4>62,400,0004= £.28,800 62,400 33,600
3) %7 210-15 |1,650,0009 — <7]1%4>4,200,0009 = A2,550 4,200 1,650
4) A== 210—15 |300,000€ — <71%>600,0009= A300 600 300
5 38 A2,600 13,000 10,400
7H AlA kA 9 210—15 |1,300,0009 — <7]14>2,600,0008 = 1,300 2,600 1,300
) Aekets <] 210-15 9,100,000€9 — <7]1%>10,400,000¢4 = A1,300 10,400 9,100
6) A A kK A 210-15 |2,100,0009 — <7]1%>9,100,0009 = A7,000 9,100 2,100
7) HAE 320-05 |14,710,000€ — <71%>39,000,000¢ = A24,290 39,000 14,710
8) 4t X3 7| ARG 320-05 |18,570,0009 — <71%>32,600,000¢ = A14,030 32,600 18,570
NEHAA G AMNA 649,844 1,490,453 2,140,297
1. SaxSA LB 649,844 1,490,453 2,140,297
7F AEAS 1A 2 AL 7] A E A 604,104 604,104
1) A]An) 420-03 |604,104,0009 x 12]= 604,104 604,104
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71 AEZEY A
7197 AE R EdTuS2 dA (9] ")
o) 1=
gopzg 22| B3| 2% AERE %A% RENE 438 | A | g
L T i i it B o = s 45,740 45,740
1) A A 420-02 |1,039,985,000¢ x 4.3981%= 45,740 45,740
s a9 7} 110,000 12,338 122,338
st A A 110,000 2,032 112,032
1. 7|28 4A 110,000 2,032 112,032
7}, g 2] A A E A A 110,000 110,000
1) Al4dn] 50,000 50,000
7H WeE =4 420-03 2,680,000 x 32 = 8,040 8,040
W) A A 420-03 |6,700,000¢ x 34 = 20,100 20,100
th) Z91EA X 420-03 |1,910,0009 x 14 = 1,910 1,910
Zh) FAIAA 420-03 |1,210,0009 x 24 = 2,420 2,420
) ZY A 420-03 |2,570,0009 x 34 = 7,710 7,710
uh) WAl A 420-03 17,920,0009 x 14 = 7,920 7,920
AD ASAH] 420-03 [1,900,0009 x 1= 1,900 1,900
2) BlET-40] 60,000 60,000
7H AFFEAA7 7] (HFE 5%) | 430-01 |3,200,0009 X 65 = 19,200 19,200
W) 7FEE AFFEE A9 45) 430-01 2,800,000 x5&F= 14,000 14,000
) AEEFE (H o] E213%) 430-01 |3,175,0009 x 4% = 12,700 12,700
) B &= (o] 9h%) 430—-01 2,350,000 x6%F= 14,100 14,100
WEEH £2100,000 2,044,186 1,944,186
Fo|EStmu S ANA 100,000 1,075,000 975,000
FolEsun &3} A100,000 1,075,000 975,000
1. solEnsXx 4 100,000 500,000 400,000
7. bt G A R = =S $h st A45,650 229,000 183,350
1) 893 230-02 049 — <717%>1,000,0004 = A1,000 1,000
2) A&EF 620-03 183,350,000 — <717>228,000,000¢= A44,650 228,000 183,350
U, A AdREFol A12,250 40,000 27,750
1) &9 &% 210-01 |09 — <71%>1,100,000¢ = A1,100 1,100
2) Alddxtgs 210-07 |09 — <71%>1,800,0009 = A1,800 1,800
3) Anjl s 210-07 |09 — <714>8,350,000¢ = 78,350 8,350
4) Fn) 310-01 [0€ — <71%>1,000,0009 = A1,000 1,000
o gt —wtEo| AR Eo = S A A850 189,750 188,900
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At & LA & A= FRTH 7174 of| At N A
1) A=A = 210-01 0¥ — <71%>850,000¢ = A850 850
L B = TR R Ry A41,250 41,250
1) $98= 210-01 |09 — <7]14>1,250,0008 = A1,250 1,250
2) Ad= 210-13 09 - <7]1%>40,000,000¢ = ~40,000 40,000
346,261 9,489,524 9,835,785
346,261 9,482,872 9,829,133
o 148,616 6,600,535 6,749,151
L EAEANIRY 159,846 5,802,097 5,961,943
7F Sx9 19,838 488,484 508,322
1) 29 620—-03 |258,551,0009 — <71%>252,058,000¢1= 6,493 252,058 258,551
2) A 620—-10 249,771,0009 — <71%3>236,426,0004 = 13,345 236,426 249,771
U 258 620—03 | 2,404,151,0009 — <71%4>2,327,649,0009 = 76,502 2,327,649 2,404,151
t} F&w 36,684 1,682,860 1,719,544
1) ﬁg‘% 620—03 |1,313,615,000¢ — <7]1%>1,285,265,000 = 28,350 1,285,265 1,313,615
2) A 620-10 405,929,0009 — <7174>397,595,000¢ = 8,334 397,595 405,929
2t 158w 25,373 1,222,259 1,247,632
1) 29 620-03 591,533,0009 — <71%>579,938,0004 = 11,595 579,938 591,533
2) AFY 620-10 656,099,0009 — <7174>642,321,000d= 13,778 642,321 656,099
vl E48ky 620—-10 182,294,0009 — <7]14>80,845,0004 = 1,449 80,845 82,294
2. $FEESFAET AN A A10,111 210,558 200,447
7} A ~1,321 17,752 16,431
1) 29 620-03 8,838,0009 — <717%>9,702,0009 = A864 9,702 8,838
2) A 620—-10 |7,593,00091 — <71%>8,050,00091 = A457 8,050 7,593
L =58 620—03 |82,834,0009 — <71%>83,010,0009= A176 83,010 82,834
o}, =8k AB44 58,724 58,080
1) 39 620-03 44,850,0009 — <7]174>45,368,0009 = A518 45,368 44,850
2) A4 620—-10 13,230,0009 — <7174>13,356,0004 = A126 13,356 13,230
2t 1Esn ~8,126 48,784 40,658
1) 39 620—03 |18,527,00091 — <71%>20,071,0009= A1,544 20,071 18,527
2) A 620-10 122,131,0009 — <7]174>28,713,0004 = ~6,582 28,713 22,131
vl By 620—10 |2,444,0009 — <71%>2,288,00091= 156 2,288 2,444
LRI AEFAERNY A1,119 527,922 526,803
W — ol — AR - A 3




ST uFA A (k9] - )

= RESHE Sy Ao 247 Ao | g
Fa | AHe

7}, A2 A A1,119 41,378 40,259

1) AFY 620-10 18,604,00049 — <7]14>19,723,0004 = A1,119 19,723 18,604

St FA AN 197,645 2,882,337 3,079,982

1. e FA 7| FUA A g= 197,645 2,882,337 3,079,982

7h =S5 A7 T A 190,245 302,462 492,707

1) 53w 620-04 312,641,00091 — <71%>175,085,0009= 137,556 175,085 312,641

2) 33,201 39,242 72,443

h ¥ 620—04 |60,343,0009 — <71%4>27,142,00091 = 33,201 27,142 60,343

3) 1538w 19,488 70,135 89,623

7hH +H 620-04 8,824,0009 — <7]14>5,300,000¢1 = 3,524 5,300 8,824

W) A 620—11 |80,799,000¢ — <71%>64,835,0009= 15,964 64,835 80,799

U, F2 2] 3 o 3} 7,400 2,579,875 2,587,275

D 58885 7,400 7,400

7H A1) 620—04 |7,400,000¢ x 14 = 7,400 7,400

2 #z) 1,078,218 17,372,557 18,450,775

8w -2 H| X 911,679 10,980,340 11,892,019

StwL-gH| X 911,679 10,980,340 11,892,019

1. 7| 289 183,583 10,975,340 11,158,923

7} 629 620—02 |1,492,125,0009 — <714>1,466,354,000¢ = 25,771 1,466,354 1,492,125

U x=8w 620-02 6,618,679,0009 — <71%>6,483,135,00091 = 135,544 6,483,135 6,618,679

o}, =8 620—02 3,048,119,0009 — <71%>3,025,851,0009 = 22,268 3,025,851 3,048,119

2. g 7|ele-4 8 x4 728,096 5,000 733,096

7} wpskG ol A A 728,096 5,000 733,096

1) 258t 620-04 533,020,0009 — <7174>5,000,0004 = 528,020 5,000 533,020

2) =& 620—04 |180,276,0009= 180,276 180,276

3) 158w 620—04 |19,800,0009= 19,800 19,800

AL A A A A 166,539 6,392,217 6,558,756

LGu AR AR Y 166,539 995,127 1,161,666

1. 98 AR AT R ZE 23,775 995,127 1,018,902

7}, & 7] E-g-9 v 620—09 |1,018,902,0009 — <71%>995,127,000¢1 = 23,775 995,127 1,018,902

2. A8t w7 el u)| R 9 142,764 0 142,764

7}, ngEhG ol AN A 142,764 142,764
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718 AEZE A
AR s B R ) S P RO (9] 4D
=z O
gopzg A3 | T2 | N7 AERE %A% RENE 438 | A | g
1) =3 620—11 |66,800,0009= 66,800 66,300
2) 153w 620-11 [62,500,0009 = 62,500 62,500
3) EZ=dly 620—11 |13,464,0009= 13,464 13,464
sty Al d AN 2,568,478 24,850,581 27,419,059
St A AN 2,568,478 17,393,984 19,962,462
St AL AN 2,568,478 17,138,173 19,706,651
1. WA A 45,450 9,764,435 9,809,885
7F W4 31,650 997,752 1,029,402
1) A1AH] 31,650 966,400 998,050
7H AEE (S 420-03 110,550,0009 x 141 = 10,550 10,550
) AR (S 420-03 |10,550,000¢ x 241 = 21,100 21,100
. 71k 13,800 598,679 612,479
1) Al4dn] 13,800 584,469 598,269
7P Az (AdH ) 420-03 [138,0009] X 100m= 13,800 13,800
2. YA AN 243,440 1,188,008 1,431,448
AR e\ 243,440 1,188,008 1,431,448
1) A1AH] 243,440 1,160,280 1,403,720
7h sz 420-03 |7,920,0009 x 641 = 47,520 47,520
W) ez 420-03 |6,210,0009 x 441 = 24,840 24,840
) BAx 420-03 |7,920,0009) x 241 = 15,840 15,840
) $Fx 420-03 |7,920,0009 x 42 = 31,680 31,680
) £85x 420—03 [20,000,0009 x 22] = 40,000 40,000
vh) gy x 420-03 |7,920,0009 x 22 = 15,840 15,840
AP B 420-03 |6,210,0009) x 241 = 12,420 12,420
o) ABA L (T8 420-03 |5,530,0009 x 104 = 55,300 55,300
3. Al AN 8,460 604,505 612,965
7}, AE S A A A 8,460 8,460
1) Al4dn] 8,460 8,460
7hH &8% 420-03 1,410,0009 x 641 = 8,460 8,460
4, JFRIAHFNA 1,711,908 1,865,630 3,577,538
7} G 270,630 237,216 507,846
1) A1AdH] 270,630 228,640 499,270
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7|8 AEZ5 UG A
7197 AE R EdTuS2 dA (F - 1Y)
74 o) 1=

gopzg 22| B3| 2% Agvle %5 ek 430 ARAne | g
7h 7Hd = 420-03 |558,0009 X 160m= 89,280 89,280
W) BAx 420-03 |415,0009 X 220m= 91,300 91,300
) g85x 420-03 |558,0009 X 80m= 44,640 44,640
2h) g = 420-03 |406,0009 X 50m= 20,300 20,300
uh) ik 420-03 |558,0009 X 45m= 25,110 25,110
., w2 329,472 441,758 771,230
1) Al4dn] 329,472 434,720 764,192
7 A%k x 420-03 |352,0009¥ X 65m= 22,880 22,880
W) %% 420-03 1352,0009 x111m= 39,072 39,072
) &5x 420-03 |352,0009 X 150m= 52,800 52,800
2 shakx 420—-03 |352,00049 X 40m= 14,080 14,080
wh) Ak# = 420-03 [352,0009 X 70m= 24,640 24,640
nh) AEA S 420-03 352,000 X 500m= 176,000 176,000
| = 619,607 820,135 1,439,742
1) Al4dn] 619,607 813,450 1,433,057
7hH 1Az 420-03 92,0009 x 816m'= 75,072 75,072
W) g3x 420-03 |103,000€ X 645m'= 66,435 66,435
o A x 420-03 |103,000€ X 200m'= 20,600 20,600
) 5% 420-03 353,000 X 800m = 282,400 282,400
up) Abd 2 420-03 |103,000€ % 1,700m'= 175,100 175,100
e s el 36,729 106,050 142,779
1) Al4dn] 36,729 106,050 142,779
7hH 1A% 420-03 |7,0009 %5247 m'= 36,729 36,729
uh, AAEE 402,000 143,994 545,994
1) A4dH] 402,000 140,700 542,700
7H £33 % 420-03 [2,010,000¢ X 40m= 80,400 80,400
W 85x 420-03 |2,010,0009 X 80m= 160,800 160,800
th) Fokz 420-03 |2,010,000¢ X 80m= 160,800 160,800
v, 7] €} 53,470 95,365 148,835
1) A1AH] 53,470 93,130 146,600
7 FHE (L5 A AA) 420-03 |53,470,0009 x 14 = 53,470 53,470
5. 47| AN 40,000 452,735 492,735
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718 e R ESTF S A9 (H8] - A9
gopzg 22| B3| 2% ESIE == RENE 2427 | Agdel | @A
7} 2" Al (LED) 40,000 132,671 172,671
1) A]AdH] 40,000 127,660 167,660
b E4= 420-03 |40,000,0009 X 14 = 40,000 40,000
6. TAF A (AF) 147,700 331,470 479,170
7t v 147,700 52,750 200,450
1) A1AH] 147,700 52,750 200,450
7hH AFd == (24 620—-11 [10,550,0009 x 142 = 147,700 147,700
7. 3 HIA AN (AHH) 47,520 63,360 110,880
7t B 47 520 63,360 110,880
1) A1AH] 47,520 63,360 110,880
7h sak= 620—11 |7,920,0009 x 64 = 47,520 47,520
8. Al A NA (A 324,000 599,807 923,807
VAR AR RASEIVN S 324,000 524,334 848,334
1) A1AH] 324,000 524,334 848,334
7 A= (nlo)l a2 k) 620—11 19,000,0009 x 367 4= 324,000 324,000
HA WS 29,000 131,587 122,587
HAAS 9,000 131,587 122,587
e Rk 29,000 66,607 57,607
EXNELY £9,000 66,607 57,607
1. TFEATJENTEF 29,000 39,000 30,000
7}, A4 430-01 |30,000,00091 — <71%>39,000,000¢1= 9,000 39,000 30,000
of u] v 664 141,428 142,092
o u)H] 664 141,428 142,092
of v v Y 7] E} 664 141,428 142,092
ELE b= 664 141,428 142,092
| AAESTE 664 141,428 142,092
| 1. AXNEZ% 664 141,428 142,092
7h, AN ARA B2 7] 3 g 664 141,428 142,092
1) 87|28 A4 710-02 142,092,0009 — <71%>141,428,0009= 664 141,428 142,092
7] ek 112,198 2,791,985 2,904,183
Q1zH] 112,198 2,791,985 2,904,183
Q17| 112,198 2,791,985 2,904,183
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78 AR T uSAaA (k9] - )
o) 1=
woipy B3| T3 | 0T AR %A% AU 2323 A4 | @
2zl AN 112,198 2,791,985 2,904,183
TS ZTEA YA 112,198 2,791,985 2,904,183
1. 28 Z AL AN T 112,198 2,791,985 2,904,183
7}, W FA FAFel A 1] 112,198 2,181,761 2,293,959
1) B AA R = 320-12 |289,984,0009 — <7|%>177,786,00091= 112,198 177,786 289,984
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